3. Cable kit G: floor-mounted cable kit

Finished 3BWBWO01-00108
material number
Gross weight 3.95Kg
Dimension 650mm*220mm* 100mm
Shipping Every 5 cable kits are packed into 1 carton (SPMPA04-00371).
configuration Carton size: 670*545*235mm, can fit 4 cartons on each pallet layer.

Batteries take 7 layers, carton for cable kit take 1 layer:

28 batteries per pallet, max 20 cable kits, total height: 2160mm
Screen
printing-front tjs PYLONTECH

il T-G

Screen r

printing-back

Paste on the back:
5PMPA07-00322

Print production date, production SN+ barcode.

ot 94§

Screen
printing-inner
hinge

Packing list.

Base

Anti-tipping bracket
Wiring bracket

Top cover of handle

Fower cable 2.5m/4AWG positive
Power cable 2.5m/4AWG negative
Grounding cable 2.0m/GAWG
CAN cable 2.5m/RJ45

RS485 cable 2.5m/RJ45

Link cable 1.6m

WIFI block

0O O0O000O0 oooo

Note: ] means item not included in this KIT

-1pcs
-2 pcs
=2 pcs
-2 pcs

~1pcs
= pcs
-1pcs
~1pes
-1 pes
- pcs

=1 pes

[ Expansion screw MB8+60
O Screw M5«12

L screw Ma=6

L] Plastic screw

[J Cover of pawer terminal
[] Terminal of RJ45

oooano

-4 pes
-1pes
-1 pes
hslpcs

-4 pcs
~2pcs

Designed to replace packing list




3.1. Content

No quantity | material code describe
PELIO- Base
1. 1 5STPT05-00008
PELIO-2.5m cable /
4AWG positive
2. 1 SWRPY02-00845
PELIO-2.5 m cable /
4AWG negative
W
3. 1 5SWRPY02-00846

SWRPY01-00561

PELIO-2.5 m RS485 communication cable / RJ45




SWRPY01-00785

PELIO-2.5 m CAN communication cable / RJ45

1PACNO04-00006

Communication port

SWRPY03-00005

5STPT01-00121

5STPT01-00042

TS51100-Pelio/outlet bracket




10.

5STFA01-00061

Screw /
M5X12

11.

5STFA02-00058

Screw /
M4 X6

12.

5STFA01-00007

Expansion screw /
M8*60




TSP120-R- waterproof cover

13. 5STAS12-00009
14. 5STPT02-00138
Nylon countersunk head screw /
M5X10
15. 5STFAO01-00081

16.

1PARF04-00003

WIFI block




4. Cable kit w: wall-mounted cable kit

Finished 3BWBWO01-00107

material number

Gross weight 5.5Kg

Dimension 650mm*220mm™*100mm

Shipping Every 5 cables are packed into 1 carton (SPMPA04-00372).

configuration Carton size: 670*545*250mm, can fit 4 cartons on each pallet layer.
Mixed deliveries are possible only when the batteries are 6 layers and the carton of
cable kit takes up 1 layer:
24 batteries per pallet, max 20 cable kits, total height:1920mm

Screen

printing-front

< T-W

Screen
printing-back

r ot e+<§

Paste on the back:
5PMPA07-00322
Print production date, production SN+ barcode.

Screen
printing-inner
hinge

Packing list:

O Basae ~1pcs O Expansion screw M8+60 -8 pes
O Antitipping bracket -2 pes O Screw M5:12 ~1pes
O wWiring bracket -2 pes O Screw M4+8 ~1pcs
O Top cover of handle ~2 pcs O Plastic screw -5 pcs
O Power cable 1.2m/4AWG positive -1 pes O cCover of power terminal -4 pes
O Power cable 1.2m/4AWG negative =1 pcs O Terminal of RJ45 -2 pCS
O Grounding cable 2 0m/GAWG -1 pes

O CAN cable 2.5m/RJ45 ~1pes O FRight bracket ~1pcs
O RS485 cable 2. 5m/RJ45 ~1pcs O Leh brecket -1pcs
O Linkcable 1.5m -1 pes 0O Screw M6+16 ~4 pCs
O WIFI block =1 pcs (m]

Designed to replace packing list




4.1. Content

No quantity | material code describe
PELIO- left bracket
1. 1 5STPT01-00122
PELIO- right bracket
2. 1 5STPT01-00123
PELIO- Base
3. 1 5STPT05-00008
PELIO-1.2 m cable /
4AWG positive
4, 1 SWRPY02-00847
PELIO-1.2 m cable /
5. 1 SWRPY02-00848

4AWG negative




PELIO-2.5 m RS485 communication cable /
RJ45

SWRPY01-00561

PELIO-2.5 m CAN communication cable /
RJ45

SWRPY01-00785

Communication port

5

1PACNO04-00006

SWRPY03-00005




PELIO- anti-tipping bracket

10. 5STPTO01-00121
TS51100-Pelio/outlet bracket

11. 5STPT01-00042

Screw /

M5X12
12. 5STFA01-00061

Screw /

M4 X6
13. 5STFA02-00058

Screw /
14. 5STFA01-00040

M6X16




15.

5STFA01-00007

Expansion screw /
M8*60

16.

5STAS12-00009

17.

5STPT02-00138

18.

SSTFA01-00081

Nylon countersunk head screw /
M5 X 10




19.

1PARF04-00003

‘WIFI block




	3.Cable kit G: floor-mounted cable kit
	3.1.Content

	4.Cable kit w: wall-mounted cable kit
	4.1.Content 


